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HTEH—TH 747 379 368 259\~ E—TH 1046 527 519 438
HTEH_TH 510 248 262  170|MAsEZ=TH 1322 680 642 491
HTEH=TH 554 260 294  203|MAsE=TH 718 351 367 252
HTEHWTH 465 229 236 1584 EMTHE 591 306 285 243
HTEHATH 534 260 274  203|MA,ERTE 1053 517 536 387
HTEHATH 1095 538 557  388|#\~ EATH 761 386 375 256
HTEHLTH 829 408 421 2974 EtTH 703 346 357 237
HTEH/\TH 829 400 429  284|AR~E—TH 670 343 327 256
N 311 175 136 117|ARYEZTH 393 205 188 137
=it 229 131 98 AARTE=ZTE 752 361 391 279
TRIETE 67 41 26 19|A®7EMTE 1363 695 668 447
5% 837 393 444 227|#@FFr E—TH 6 2 4 3
i 101 48 53 26|FT 7 E=TH 737 411 326 358
ZF 500 237 263 153|@Fs E=TH 552 289 263 234
5N 1483 722 761  Al4|#FTsEMTE 628 321 307 244
KA 15619 758 761  A90|Fr7EERETHE 1051 512 539 381
IR 1460 787 673  G513|META—TE 784 392 392 322
pNITE4:: 129 60 69 34|IARTE =T B 706 349 357 288
AR 546 259 287  139MATA=TH 768 387 381 302
Ry 1,147 551 596  330[#ARTAMTE 693 359 334 247
OALE—TH 823 439 384  322lWMATARTH 1010 514 496 334
OALEB=TH 1,797 910 887  T731[METAANTE 713 350 363 231
OALB=TH 1,197 641 556  448|METAtTE 1091 540 551 349
£E-TH 475 233 242 151|%HEF&—TH 636 324 312 239
£E_TH 487 252 235  158|%MFAZTH 1016 524 491 339
£E=TH 562 294 268  206|EEA=TH 647 335 312 228
£EmTH 496 247 249 171|EEFAMTE 868 399 469 299
£EATH 329 169 160  111|EEFARTHE 710 345 365 230
FR—TH 926 479 447  380|XEFAATH 537 281 256 229
fR-TH 255 128 127  114|EHAETH 739 400 339 305
FR=TH 431 232 199 226|& &t 62,482 31,591 30,891 22,854
FRETH 164 98 66 115
i 1,355 683 672 505 B hoimEs
BA7E—TH 653 339 314 238 A O 65 A
EA~7EZTH 2061 1021 1040 792 [ 5 47 A)
EA7E=TE 2221 1,110 1111 834 [ % 18 A)
AHT 6,607 3403 3204 2594 HEH 319
[FoE&a—TH 495 269 226 215
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[TXEEmMTH 763 363 400  205| IA2ZEOEBEEEEMEAREMDUERLL.
[TREEAETH 552 295 257 256
HeEAATH 692 368 324  op9| T TH -TEREMAAETRIEL




